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L<k<n BEATLOTN AVON) = fn(b)

{0<y<b
fr(0) =0

e cVPEOM AVONG:

2 (y) = {0 v fr(y) = fr—1(y)
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k
ge(z) = min{) ajzj| Y cjw; >z, x;€{0,1},j=1,...
j=1

n

= {1,...,n},z€{1,...,ZCj}

=1
min{gr-1(2),ar + gr—1(z —cx)}

gr(2)

V(B) : PEATLOTN TLUN
V(B) = min{z € N|gn(z+ 1) > b}

* (z) — +oo AV z > c1
I | o OLOPOPETLKA
x ze{l,...,[V(B)]} 6mov V(B) n REATLOTN AVON

TOV OCLVEXOUC TPOPANUATOC

MoAvTtAokoTNT: O(n X V(B)) = O(nx min{b, V(B)})

pseudo-polynomial

11



Dynamic Programming Knapsack

max z=20x,+16x,+11x; +9x, +7x, +x,
9%, +8x, +6x, +5x, +4x, +x, <12
x; €10,1}
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Finding the solution
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x,(12)=0
x;(12)=1
x,(8)=0

x,(8)=1
n POPEC

12— x,(12)a, =8

8—8=0

[MoA/Ta: EUpeon TINAC O€ XpOVO:
O(n(b+1)) < O(nb)

MvRAun: O(b)





